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Table 1-18: Comparative price levels

S Wik
Comparative price #E2)
EI levels for financial Com . . IGDIP %ﬁ;ﬂ);k-% OECD opri
Country expenditure on GDP at parative price levels on G at average CD prices
average OECD prices
20044 /Year 2001 | 2002 | 2003 | 2004 | 2005 | 2006

HA JPN 131 124 127 122 120 114 106
FA)H USA 113 92 111 103 98 98 99
5 CAN 88 103 87 91 94 101 107
AF)R GBR 97 98 101 104 111 110 112
k1Y DEU 96 119 100 105 109 108 108
TSR FRA 90 112 94 108 112 110 111
A43)7 ITA 85 109 86 98 105 105 106
AT —T SWE 104 145 106 117 122 121 123
F—ZrS)T AUS 80 99 80 90 98 103 103
—a—U—5UF  NzL 73 88 75 87 95 101 94

BEEHEAT  TH & Wi K #E . OECD (2005) Purchasing Power Farities and Real Expenditures 2004: 2002
Benchmark Year
GDP#ti/k #E: OECD (2007) Main Economic Indicators, August 2007
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Table 1-19: Purchasing power parities (PPPs) and comparative price levels

BEE Sl (BRR) /PPPs (Tokyo) (H /%Eliﬁﬁ”) (yen/national currency)
HAEELT/Base oity 1990 | 1995 | 1998 1999 2000 2001
E/Year
—a1—3—45 New York| 170 184 182 168 153 153
avky London 265 247 244 240 234 222
AU Paris 26 25 162 159 145
75977JLF Frankfurt 90 88 169 158 148
:/‘/ﬁﬂ'sf)lx Singapore 132 136 124 122
Sar—7 Geneva 81 83 81 79
NAMIEAE ZE (BRZR) /comparative price levels (Tokyo) ({Z /times)
EHEERT/Base city 1990 1995 | 1998 | 1999 | 2000 | 2001
—a—3—4 New York| 1.18 1.72 1.49 1.58 1.29 1.15
avky London 1.03 1.49 1.18 1.37 1.32 1.14
AU Paris 1.17 1.16 1.47 1.42 1.22
I5292)Lk Frankfurt 1.23 1.21 1.53 1.41 1.24
SUHR—IL Singapore 1.77 2.12 1.80 1.67
Tar—7J Geneva 1.02 0.92 1.07 1.23
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2) HEEEKIL, =2—3—27=USKIL, ar Ry =®RoR, AU=7F(~19984F) /2 —m(19994E~),
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